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SID:

MJU Discrete Mathematics Midterm
[1] Logic
(a) CtS EHAQ| truth table 2 ZHASHA| 2.
(pAg)V(pV—-q)
D q (pAg) | (pV—g
T T T T T
T F F T T
F T F F F
F F F T T
() p-q=(p~q)rlg~p) SA8sto
p < q 2l truth table 2 Z45IA|2.
p q (p—-aq)l (g-p)
T T T T T
T F F T F
F T T F F
F F T T T
(c) Gt BHQl TI¢ % OMIQ true or false?
if 3+5 < 2, then 1+3= ( T): True
(d) Ct= EH P, Q 7t =2|H o2 SX[QIX| Ot X|E
truth table 2 AFE3510{ HO[A|2.
P=pA(=qVr)
Q=pV(qVv-r) not equivalent
p q r qVr| gqV-r P Q
T T T T
T T F F T
T F F T
T F T T T
F T T F T
F T F F
F F F F F
F F T F
(e) Ct= F7H2] 7H40] true & I ZE S MA[2.
If p-q , —q then conclusion? -p
[2] Boolean Algebra
CHS2 ¥80| x,y,z O|[ZZEZHO0| F CQlAAH
of st 2x|o|Ct.
k-map O| Ct=21t 22 mf Ct2 R E0]| BSHA|2.
yz=00 yz=01 yz=11| yz=10
x=0 1 1 0 0

x=1 1 1 0 0

Name:

(@ &4 F Z mintermE m, (i=0,1,...,7)
& 40E AE5I0 LIEHLHAI2.
F=my+m+m,+m;

(b) ¢ 9I minterm S 2 Hp?

X y z Oili'.jﬁ.jélg

() &% F 2| truth table & F#5IA2.
X \ b4 F
T T T F
T T F F
T F T T
T F F T
F T T F
F T F F
F F T T
F F F T

(d) k-map 2 AFE3I0] F gAls 2HEHD| SHAL.
F=y

[3] Sets

(b) A°NB°‘NC

9| Venn Diagram £ J2|A|2.

[4] Functions

g4 f,g =25 A=(1,2,3,4] oM HolEIC},
g+ f £ ((1,2),(23),34),(41)] oz
g+ g £ ((1,2),(22),(33),(43)) olct
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(@) fog E&MYS AHBI0] LIEHLIAIR.
No compound function exists

(b) gof E=MYS AEHO LIEHHAIL.

(1,2),(2,3),(3,3),(4,2)}

(©) fofef E&MME ARSI0] LIEILHAIR.

(d) [ =A==t Yes
(e) g = HAER17I? No
[5] Matrix
3 5 ol SHHAIS ABIA|Q
(a) 1 4l | HEAIS FSHA
0 20
(b) |3 0 1| o HBAZ PR,
05 8
(c) Cre HEer™Alof| Cidto] Cramer's HAlS ALRSt

HxE ?Of 2. x=148/21

2x+6y+z=7
x+2y+z=7
5x+7y—4z=9

Name:

7 -4

=o i o= VI

0 0 1 0 01 0
000 ,_l0oo00 1
1 0O 1 0 0 O
01 0 01 0O
1 00 1 0 0O
010 L0100
0 0 1 0 010
0 0 O 0 0 0 1
1 1 1 1
A+A+ A= D1
1 1 1 1
1 1 1 1

DAFEA 21

[6] Relations

(1,2,3,4] oid=elgiz R 2cig3 ot
R:{<1’4)’(2’1)’(3’2)’(4’3)}

e i RQITt No
2 HhAREIQIZ}? No
2 x0|xeI7p No
2 HHHAEIT}? Yes

9| reflexive closure £ =A% S AR50
LIEFLHAIL.

((1,4),(2,1),(3,2),(4,3),(1,1),(2,2),(3,3),(4.4))
(f) R 2l symmetric closure & #=M%2 AL25104
LIEFLHA| 2.

((1,4),(2,1),(3,2),(4,3),(4,1),(1,2),(2,3),(3.4))

(g) R 9l transitive closure £ & %S AtE3I0]
LIEHLHAI2,
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[7] Algorithms

@@ f(n)=n’+(10n"7) 2 © Aoz LiEHy

SID:

Name:

procedure bubblesort(a(l), ., a(n): real number with n >=2)
for i := 1 to n-1
for j := 1 to n-1i
if a(j) > a(j+1) then interchange a(j) and a(j+1)
{fa(l), ..., a(n) is in increasing order}
Al2.
f(n)=6(n’)

= @Esta{ 1 ot

i=1 OlM =7 S BT HIE MR

i=1 | i=2 | i=3 | i=4 | i=5 | i=6 | i=7
1 1 1 1 1 1 1
5 2 2 2 2 2 2
2 3 3 3 3 3 3
3 5 4 4 4 4 4
7 4 5 5 5 5 5
4 6 6 6 6 6 6
6 7 7 7 7 7 7
8 8 8 8 8 8 8
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MJU Discrete Mathematics Midterm 402 SID: Name:

[1] Logic X v - F
T T T T
(@ -(pAg)Vv(qv-r) @l truthtable & &5t T T F F
A2, T F T T
D q r | ~(pAg) (qv-r) T F F F
T T T F T T F T T T
T T F F T T F T F F
T F T T F T F F T F
T F F T T T F F F F
F T T T T T N
F T F T T T () 92| truth table £ k-map S & HESIA 2.
F F T T F T xy=00| xy=01 xy=11| xy=10
F F F T T T 7=0 0 0 : 5
(b) pVvq ~-r 9 truthtable 2 FH4stA 2. z=1 0 1 1 0
b 4 I  prg. 7 (d) k-map & ALSBI0] F BH4A S 2| BHA
T | T | T | T | F | F |lsg
1 I E T T T F=xy+yz
T F T T F F
T F F T T T
F T T T F F
F T F T T T [3] Sets
F F | T | F F | T )
F F F F T T () A={a,b,c] 2| HE & (power set)S MA|
2.
(c) CH YH O TS E BHSIA 2. trueor false? | .
if 3+2 < 12, then 1+3>4 (T F): False \$,1aj,1bj,icj,1a,bj,ib,cj,ic,aj,1a,b,cjj

CHE2 A FIHQ 7tM0| true Y M ZES 5

=2
a
= =M o[t

(dif -p-q , —p ,thenconclusion? q
(b)) ANB'NC 2 Venn Diagram € JE2|A|2
(e)if -p-q , —q ,thenconclusion? p A * N
(Hif —-pvqg , p ,then conclusion? g / ’*
[2] Boolean Algebra B\ B / o C
=0l x,y,z Ol EH0| F QAL

CtE2 YO

Boj et 2Ho|Ct.
(a) minterm m,m;m, & x,y,z & A&t [4] Functions
Of LIEHH Al 2.

m,=Xyz, M=XYzZ, M,=XYyZ

(a) floor(3.3) 3
(b) floor(-3.3) -4
(c) ceiling(3.0) 3
(d) ceiling(-3.0) -3

(b) F=my+m,+m, & I truth table & T5tA|
2
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oAy 3HA 2 F ML= HER 2 ISt
I & AN E HHESIA 2 F, AN S HEHSHA 2
(e) floor(x)= M AtEF4=0|CH No
(f) ceiling(x)= THALEF 40| C. Yes
[5] Matrix
3 5| o sizgale a5
(@) o HHAZ F5HA 2. 34
-2 8
0 20
b) |6 0 2| YHHAS IS, -96
0 5 8

() CHS AR WA

M Al S Gauss-Jordan AHHO 2
HME FEM AMS3E

A HEE AN 2.

2x+6y+z=7

xX+2y+z=7

5x+7y—4z=9
Step 1)
1 3 1/2 7/2
1 2 1 7
5 7 -4 9
Step 2)
1 3 1/2 7/2
0 -1 1/2 7/2
5 7 -4 9
Step 3)
1 3 1/2 7/2
0 -1 1/2 7/2
0 -8 -13/2 -17/2

SID: Name:

[6] Relations

7E|-

[1,2,3,4] oM HolE 2tH

R 281
ot R={(1,3),(2,4),(3,1),(4,2)}

(@ R 2HEHAIN? Yes
(b) R 2 HrAHCQITF? No
(© R 2Fo[xel7p No
(d R 2RHHEHQIIE?  No
(e) R <l reflexive closure & =M %S A3t

Of LIEHHAI 2.
((1,3),(2,4),(3,1),(4,2),(1,1),(2,2),(3,3),(4,4)]

(f) R 2l symmetric closure § =M% & ALE3t
Of LI Al 2.

((1,3),(2,4),(3,1),(4,2)} already symmetric

() R 9l transitive closure & =M% A5t

O LIEILHAl 2.

o O~ O
[l N ]
O = O O
_ o O O

oSO O~ O
o O = O
o = O O
o O O

1
0
1
0

A+ A+ A+ A=

_ O = O
O = O =
_ o = O

((1,3),(24),(3,1),(4,2),(1,1),(2,2),(3,3).(4,4)}
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[7] Algorithms

@ f(n)=r’+(10°n*?)} 2 © Aoz Liet
LA 2.

=2 O|M =8 TAHS S ZIE LA,

i=2 | i=3 | i=4 | i=5 | i=6 | i=7 | i=8
1 1 1 1 1 1 1
8 5 2 2 2 2 2
8 5 3 3 3 3
8 5 5 4 4
8 7 5 5
8 7 6
8 7
8
procedure insertsort (a(l), ..., a(n): real number with n >=2)
i := 2
while 1 <= n
j o= 1

while ((J >= 2) and (A(j-1) > A(3)))
swap A(j) and A(j-1)
j =3 -1
end
i :=1 +1
end while
{fa(l1), ..., a(n) is in increasing order}




